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aEUY: 8,9 @mid : 1.30 wewofl

L #flwreor aflem_cow Gsiey @aws . (Choose the best answer ) :

1 10+71= _

D) 17 )7
2. 100x1= -

1) 101 S1)99
3 79x0= -

S1) 790 )16
4. 225+ _ =45

D)5 )9
5 637—-419=___

S1)1053 <) 221

IL @smqr L S hsewer Hlgiys. (Fill in the blanks)

6. 777 + _ =777

7. _ _ x75=0
8. 361 —-125=__

9. 460+-10=___

10.708 -12 = ___

[IL @urapsbgis ( Match it)

1. 52 e165rM 6T6vor awofledT @G mLifl
The successor of 521is —

12. RWrs g eTsTUS)

Thousand eighty -
13. 98 — 1080
14. 25 —

15. 64 —

@wr&s WwHGUEsT : 50

5x1=5
8)81 FF) 9
&)100 FF)
)97 FF) O
)15 FF) 25
8)6 FF) 416
5x1=5
5x1=5
70 + 28
4 X 16
53
25+25-25




IV.&flwr ? seupn ? ereords agyss. ( Write true or false )
16. 75432 > 75412
17. oI eravorafledr (Y edTeotl Wb mib @& TLflullesr g Shwumsb 2
The difference between the predecessor and successor is 2

18. 40,000 + 9000 + 600 + 30 + 2 = 49632
19. 71+12-10x0 =73

20 wlasuEUIhU HITESTE &60és 6168 1000

The largest 4 digit Number is 1000

V. Qissraimib eflcormd & omd @ afleoL_wefl ( Answer the following Questions):

21. GledTaIHID 616t 6mer of micuflens Wb mib SmibkiE euflcnsudicd 6T(1pgIs.

Write in Ascending and descending order
75343 ,30745,43452,13055,44918

22. ereoreoTiTed 61(1pg1s ( Write in Numeral )
(1) e Basimig G BIHUSTUSITS 8l IHITGT @)

(@) One crore forty thousand and four

(<) DADIUSS) BIGTS SoOL_&55! eP6OT D)
(b) Sixty four lakhs and three

23. 34578910 6o 7 oHmub 4 651 &  WwEHIHUS HITGBOTS.
Find the place value = 7and 4 of this Number 34578910

24. Si’_ L euqefled 61(1pg1s. (Write the following numbers in standard form )

(=1)(2)8000000 + 70000 + 8000 + 80 + 7
(<) (b)9000000 + 300 + 1

5x1=5

15x2 =30




25. sal”_(h&.( Addition )

(<) (a) (=) (b)

4
4 7 0 2 5 1 9 0
26. ga.l’_(h&.( Addition )
s o s )
- O > s
7 1 2 5
-1 ra =
27. sa”_(h&.( Addition ): 19732 + 24105 + 525 + 48
28 &0&6.(Subtract)
(=1)(a) (<) (b)
1 5 8 3 7 6 4 8 2
3 9 2 9 3
3 9 7

29, e¥l6mL &T600TS.

(&N@99—-85+70=___

(<)(b)188 + 15 -200+ 77 = __




30. QuHEGS. (Multiply)
(=1)(a)49 X 8 (<) (b)728 x 27

31 Qurd@s.(Multiply)
(@) (@)17 x 17 (<) (b) 256 X 256

32. @@ CBI_{H U585 5165T 6llemev emp. 24 eTeoflod 15 GBI (Husssmisaflesr ellemed e165T6oT ?

33. eu@ &6 (Division)

(SN@)72+9 (=) (b)121 x 11

34. eu@&&.(Division)

(=) (a) 648 +~ 12 (<) (b)9660 + 15

35. QRHOUIT H6OTEOIIL D 2_6iTom 1024 (IpL-_ 60L& 606 8 86 GL_86iTl60 &FLONE Bi(H& &l cneusSImmi ereoflcd ,

ST (M & HL_UII6Dd HEUSHBHTED (WL 6mL_86iTI6T 6T600T 60ofl 8608 6TGIRIGT R ?
If a person arranges 1024 eggs equally in eight baskets. What is the number of eggs he puts in one
basket ?




